Dammam Community College
MATH 012  

Past Exam Questions

Section 9.5

1. If the system [image: image2.png]


  has a solution [image: image4.png]


 in the first Quadrant,                     then  [image: image6.png]a+b



 is equal to
a.  [image: image8.png]



b. [image: image10.png]


 

c.  [image: image12.png]



d.  [image: image14.png]



e. [image: image16.png]


 

2. The number of intersections in the graph of the equations [image: image18.png]


  and  [image: image20.png]


  is   
a. [image: image22.png]


 
b. [image: image24.png]



c. [image: image26.png]



d. [image: image28.png]



e. [image: image30.png]



3. If [image: image32.png]


 and [image: image34.png]


 are the solutions of  the system  

[image: image35.png]



 
then  [image: image37.png]a+b+c+d




 
a. [image: image39.png]



b. [image: image41.png]10




[image: image42.wmf]
c. [image: image44.png]12




d. [image: image46.png]



e. [image: image48.png]



4. The number of solutions of the system 
[image: image49.png]



is equal to:  (Hint: Sketch the graphs of the equations)  
a.   [image: image51.png]



b.   [image: image53.png]


 

c.   [image: image55.png]



d. [image: image57.png]



e. [image: image59.png]



5. The number of intersection points of the graph of the equations [image: image61.png]4+ 3y%



  and  [image: image63.png]


  is equal to:   
a.   [image: image65.png]



b.   [image: image67.png]


 

c.   [image: image69.png]



d.   [image: image71.png]



e.  [image: image73.png]


 

6. The graphs of the equations [image: image75.png]


  and  [image: image77.png]


  intersect at:   
a. Three points

b. Two points 

c. No point

d. Four points

e. One point 

7. If  [image: image79.png]


  and  [image: image81.png]


  are eliminated from the system [image: image83.png]


 ,  we get:
a. [image: image85.png]Sx—4v+3=0




b. [image: image87.png]Xx+4v+3




 

c. [image: image89.png]Sx+11y+9




  

d. [image: image91.png]11x+4y+3

0



 

e. [image: image93.png]3x—4v+7=0




8. If [image: image95.png]


 and [image: image97.png]


 satisfy the system of the equations  

[image: image98.png]



 
then  [image: image100.png]a+b



 is equal to 
a. [image: image102.png]



b. [image: image104.png]


[image: image105.wmf]
c. [image: image107.png]



d. [image: image109.png]



e. [image: image111.png]
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